(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Hangkhompon Joithul Name of Political Party, if any: JD-U

Constituency from which contested: 11-outer Manipur (ST) parliamentary Constituency

Date of Declaration of Result: 23/05/2013 jabt Hankip, Khingjor

Name and address of Election Agent:

Name and address of Election Agent:

30

10600

		2		3	4	5	6	7	8	9
Date of expenditure/event	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
31/3/2019	Tia	220	10	2,200	Yaima Hotel	39				
	Khajur	250	10-	2,500	Yaima Hotel	40				
	O		89.02	6,600	Kusum					

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate

42

to be furnished after the date of declaration of result).

30

10

Prooti

Signature of the candidate

012

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Hangkhongor Joithul Name of Political Party, if any: JD-4

Name of the Candidate: Hangkhongor Joithul Name of Political Party, if any: JD-4

Constituency from which contested: ii - order Manipul (ST) Parliamentary Constituency

Date of Declaration of Result: 23/05/2019

Name and address of Election Agent: Leingalet Hankip, Khengjoi

Total expenditure incurred / authorized: 12/00/E

(From the date of nomination to the date of declaration of result of election, both dates inclusive) (T/T=137916 + 12100 = 150016/-

-		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of		diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
01/04/2019	Tea	300	10	3,000	Young Hotel	43				
1 1	Khajier	350	10	3,500	Yaima Hotel					
	petrol		69:02	5,600	Kusum Besvice					
	,			12/00						
				1013						

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Signature of the candidate

013

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Hangkhankou Taithul Name of Political Party, if any: JD-U
Constituency from which contested: I outer Manipur (67) parliamentary Constituency

Date of Declaration of Result: 23/05/2019

Name and address of Election Agent: Length Hackey, Klungjoi

Total expenditure incurred / authorized: Total expenditure incurred / authorized: (14106) (From the date of nomination to the date of declaration of result of election, both dates inclusive) (61/7) (6

		•		3	4	5	6	7	8	9
Date of expenditure/	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
2 4 19	L/Speaker			5,000		46				
	Auto Ricks.	5	1000	5,000	1	AŦ				
	Gypsy	t	1800	1,800	NR	48				
	Banners	24×7	12	4,896	dels	149				
	chairs	100	5	500	1	50			of the People Act 1951	(Cartification)

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Houghhow pare Tother Name of Political Party, if any: 5D-U
Constituency from which contested: <u>K</u>-Outer Manipur parliamentary Constituency
Date of Declaration of Result: 23/05/2019
Name and address of Election Agent: Linjahl Harkip, Khengjor
Total expenditure incurred / authorized: 1345-

Total expenditure incurred / authorized: 1349 / (From the date of nomination to the date of declaration of result of election, both dates inclusive) 61/T = 167212 + 1344 = 168556/-

		2		3	4	5	6	7	8	9
Date of expenditure/	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
2/4/19	Kanaf.	6	50	300		51				
	flag	26	4	104	DD-4 party orker	52				
	water Itto	12	20	240	Raujet	53				
	water 1 Ho		10	500	Ranget					
	Table (wood	2	100	200		55				

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

015

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Hangkhanpan Jaithul Name of Political Party, if any: TO-U
Constituency from which contested: In - oater Manipur (87) parliamentary Constituency
Date of Declaration of Result: 23/05/2019
Name and address of Election Agent: Xinjahf Haoleip, Khengjoi
Total expenditure incurred / authorized: 8000 p

Total expenditure incurred / authorized: 8000 F (From the date of nomination to the date of declaration of result of election, both dates inclusive) C7/T = 168556 + 8000 = 176556/-

. 1		2		3	4	5	6	7	8	9
Date of expenditure/	Nature of		liture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any	
	Description	Qty.	Rate per unit							
2/4/19	Tea	150	10	1500	Yaima Hotel	56				
	Kaehowij	200	10	2000	Yaimar Hotel	57				
	petrol	28 97	69.02	2000	Service Station	28				
	1		62.03		porompo Service					
				8000						

James James 1,58,575 per con agent under Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

016

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Haughhaupae Jaithul Name of Political Party, if any:

Constituency from which contested: 11- outer Manipur (ST) Parliamentary Constituency

Date of Declaration of Result: 23 for 12079

Name and address of Election Agent: Leingalet Haship, therefore

Total expenditure incurred / authorized: 18196
(From the date of nomination to the date of declaration of result of election, both dates inclusive)

Constituency from which contested: 11- outer Manipur (ST) Parliamentary Constituency

Thouse

O16

O17

Total expenditure incurred / authorized: 18196
(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of	expend	diture	Amount in Rupees (paid	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
03/04/19	L/Speaker			5000A	1)/	.60				
Publac	Tata . Magic	5	1500	7500	No	61				
Meeting	Banner	24%	12	4,896	tale	62				
	Chair	100	5	500		63				
	Kanat	6	50	300	11/	64				

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

(Part A)

Register for Maintenance of Day to Day Accounts of Electi

Name of the Candidate: faughhaupae Taithul Name of Political Party, if Constituency from which contested: II - Outer Manipur(S) parliamer Date of Declaration of Result: 23/05/2019

Name and address of Election Agent: Lawfalt Haroley, Khangjar Total expenditure incurred / authorized: 2520/

diture by Contesting Candidates

017

Annexure-E1

Total expenditure incurred / authorized: 3520/4 (From the date of nomination to the date of declaration of result of election, both dates inclusive) $G_1/4 - 194752 + 3520 = 198272$

	•		3	4	5	6	7	8	9
Nature of		diture	ReceiptTotal Amount in Rupees (paid	address	I date	Icher authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
Description	Qty.	Rate per unit							
Flog	20	4	80						
Water 1 Video	12	20	240	Hotel	-				
water 1/2 Cet.	50	10	500	1					
petrol			2000	State			A Marie	19	
Diesel			700	conte	4.4			EO	
	Description Florg Water Niche Water 'b Cit. Petrol	Description aty. Flog 20 Water 1 like 12 Water 1/2 lit. 50 petrol	Nature of expenditure Description Qty. Rate per unit Flog 20 4 Water 1 like 12 20 Water 1/2 50 10 Petrol	Nature of expenditure ReceiptTotal Amount in Rupees (paid + outstanding) Description Qty. Rate per unit Flog 20 4 80 Water Vide 12 20 240 Water Vide 50 10 500 Petrol 2000 3 2000	Nature of expenditure ReceiptTotal Amount in Rupees (paid address of payer outstanding) Description Qty. Rate per unit Flog 20 4 80 Water Nick 12 20 240 faire for the perol 2000 faire for the	Nature of expenditure Receipt Total Amount in Rupees (paid address of payer outstanding) Description Qty. Rate per unit Flog 20 4 80 Water Link 12 20 240 Water Link 50 10 500 Petrol Petrol Q'seel Receipt Total Amount in Rupees (paid address of payer and date and address of payer by and date by a fair by a f	Nature of expenditure ReceiptTotal Amount in Rupees (paid address of payer outstanding) Description Qty. Rate per unit Flog 20 4 80 Water 1 like 12 20 240 Petrol Petrol ReceiptTotal Amount in Rupees (paid address of payer outstanding) Name and address of payer outstanding outstanding address of payer outstanding outstanding outstanding address of payer outstanding outstandin	Nature of expenditure ReceiptTotal Amount in Rupees (paid address of payer outstanding) Description Qty. Rate per unit Flog 20 4 80 Water Water 20 240 Petrol Petrol ReceiptTotal Amount in Rupees (paid address of payer outstanding) Name and address of payer outstanding) Name and address of payer outstanding) No. address of payer outstanding address of payer outstanding) Rate per unit 80 Flog 20 4 80 Faint by Flog 20 240 Faint by Flog 20 240 Faint by Flog 20 240 Rate per unit Flog 20 4 80 Flog 20 240 Flog	Nature of expenditure ReceiptTotal Amount in Rupees (paid outstanding) Description Qty. Rate per unit Flog 20 4 Bo For and Amount incurred/authorized by candidate or his election agent Flog 20 4 Bo For and Amount incurred/authorized by candidate or his election agent Flog 20 4 Bo For and Amount incurred/authorized by political party and name of political party full Name and Address) Flog Water Like 12 20 24 D 4 4 4 4 4 Water Like 12 20 24 D 4 4 4 For an and Address 1 2 2 2 2 2 For an and Address 2 2 2 2 2 For an and Address 2 2 2 2 For an and Address 2 2 2 For an and Address 2 2 2 For an and Address 2 For an an and Address 2 For an and Address 2 For an an and Address 2 For an an an an and Address 2 For an